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Uulnur phhn

30239170 nu hr nurorlu$nrhL ohnhul qz hruur 120000 120000 L

39132110 2hntr hqdnn ru ruhrunurh/rhnpn qz hruur 70000 70000 1

.30197234 Oqpulrlurhurh / bnzur burqdnrl qZ hurur 500 10000 20

22851100 Unurourburn qz hurur 1.00 4000 40

3019723r Surtt q2 urntrh 1000 3000 3

30792740 fdnura A4 $nnrfturn qz tnnuh 2500 1.75000 70

30192121 lnhs ohnhtnudnn qz hunn 100 3000 30

30192130 Uunnhur qz huru t20 3600 30

30192100 flhtnhl: qz hurr.n 100 1,000 10

30192160 Cnnhhr 1L htutn 2s0 L250 5

30199420

ldnr-r1p L2nrtf bh p]r hurr"Ir.u p,

unuhd.rlurbpnr.l q2 urnlr]r 300 1500 5

30197111 tturnhrh tlt urru n urr urnh L unu hn. rhnnn q2 urntrh 150 3000 20

30t97LL2 Itunh>h rihtnruq url urnh b urut hn, ilhlht qZ urnr-rh 150 3000 20

30192114 nurhurp hhhph nurn&hbh hurdurn qz hrutn 500 1.000 2

Spuhuu1npurylth funrybp
09411700 trhurL urtr uhnrld urb qurq uu il3 200 300000 1500

09134220 nhqhrurrhtr rlurnhrhB (en 590) q2 rhtnn 420 924000 2200

Chnurilbhn 1523350

atu ntul n Lpln ilt b hp h U2lu u n u h p ft hp

4522rL42 ntrnhurhnrn lhhrununurL urrlururn. r\t nnuri 8474450 8474450



44163100 ru nn ru uruh lunn nrl urlt uu nnuni 1600 345600 216

44163100 'Ilnnruruut oruho hrnrurlrub <<fhurhqur>> {.ru nnurd 700 448000 640

'D nn ru urtnh ruhL t nthurlt Lru nntuil 1.450 69600 48

39224330 Chhurnrunurhurh nnri uu nnuril 1000 4000 4

9unnn nhub uu nnur.I 1300 13000 10

44163360 Urinurh uu nnurr.i 400000 22000 0.0s5
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Sp u h uulnptnrylt h tryn Lp hp

091.34220 nhqbrurrhh rlunhrhB (en 590) +/ hrnn 42C 924000 2200

Autnwl n tp1 n ft tt hp h U2fu tu m u hp h hp

45231.126

nnnqrf urh lunrlmlur\ur2urphnh
L urnnr-qilruh ur rhruunuhphtn q2 nnruil 545500C 5455000 1

44t4ttlj
qnfrkpfrlhhrul f h funrln{u\hhp
nnnar.Iutr uu nnuil 62 100C 621000 1

Chnunihhn 7000000
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4 5 L 51

Sn tu h utunnntu r h h hrntm h n
)9134220 rlhqhrurthb rlurnhlfrp (en 590) hurn 420 646800 1540

Atu ntu I n LBt n fi b b n h Uz /u ut ut tu tt ph h n

+523Lt77
d.urhurqurphhhpfr rltpurtrnpnqrftuh

urrluururutrptrhn qt nnrud 4353200 4353200 1

Chnurilhhn 5000000

trrudhb tuntrip nluu bnrua nn
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S n u ft u w n n tn ut h h ft m Lra h n
09134220 nhqbrurhh rlurnhrhB (en 590) qZ hun 420 84000c 2000

Aunu1ntp1nthlt h n h U2 luun u hp h h p
65000000 9ntfnr-hurt brunuu nrpl nthhhn qz nnurtl 1760000 176000c t

3491.1230
{hpruhnpnqriruh bu-rfu uruS frtr
Llntphn h ruruhhutnrurftuuhn qZ nnurr.i 400000 40000c t

Chnrurlbhn 3000000
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Snuttuwnnnurhh hmtmbn
09t34220 nhqhrurrhh rlunhrhp (en 590) qz hun 420 588000 1400

aru nu r n t ranLhh h n lt Ut fu u Ln uh ptt h n

45251.1.68

[hrirnru2phpfr \u; rutrLhpfr

{hprutrnpnqrltuh h ub}uLfr\u\ur\ruh
uru ururunL rlurh ru rtuurtnuhphhn qZ nntuil 1269000 1269000 7

44L4L1.t1 hnh rhnur burl prudnp iunnnrlruhhhn uu nnurtf 49s000 495000 1

fhrnruhnn hnrnr-nnt uu nnrurJ r4400 288000 20
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nhururhnnh Lunhurnh> UU nnunl 36000 36000c L0

Ch+unlhtrn 3000000

trurdhh lunrr-[p nluu bpurq n

5 3 L t8

SpuhuqnpnuTfth funtphp
09134220 nhqhrrurhL rlurnhlfrp (en 590) q, hrnn 420 277200 660

Aut nutl n tp7 n fi h h p h U2 lu utn tu ttp tt bp

45231132
lpulnurphhpfr rlhpru\urhqhriruh
rhhurnrunurh urh urrhurtnurtrphhn qt nnurt[ 4537540 4537540 L

44500000 hurb urh nnhhrur hh rJrtuh urfu hn tiu nnruri 13000 299000 23

44500000 hnrhq qlluhh uu nnull 2000 46000 23

14211000 Urlurq rrlruqurb UU nnunl 8000 88000 L1

L42TLLLO tuhd UU nnruil 800c 120000 15

44LL1200 qhrlhhur uu nnurtl 5600c 336000 6

Jlubh UU nnunl 100c 10000 10

11661100 hrhLtnnnn 3rftl UU nnunI 400c 8000 2

44163360 Urlnurturn UU nnrud 420000 7560 0.018

44511L10 Chhrunurnru L urh nurh/ru nrntl UU nnunl 1800 10800 o

44L41110 q u htrahr hhurhh lunn nrl uLbhn uu nnuil 227000 232900 L

44t63290 funn nrl rubhhnh ilhurqnulhhn uu nnuril 268s0 27000 I
Qhnrurlhhn 6000000
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4s310000
h th\urp ru rlntru urdruj f h

urrtuurtnurhphhn qz nnrurl 12s9000 1259000 L

31531300 urhnhunn runlu q2 nnuni 2400 480000 20c

31s12360 LED rnruun&urhhhn a"t nnturl 18000 540000 3C

31531680 I{nnrun qz nnunl 150 1s000 10c

31531680 trnBunh rhnturuhqntil q2 nnruil 500 50000 10c

3L221.160 Znuruhph dturlurthh nhth qz nnrurl 5000 1s0000 3C

31320000 rluirnttu urrrnu.fhhh qZ nnurd 150 75000 500

44423220 uruurhdurh purqrfur$nthU qhnhurt qz nnrurl 13000c L30000 1.

31686000 upng qz nnunf 30c 30000 100

11684200 .{unnruh hnL phhnurthfu /1 trrt4urhng qt nnunl 55C 27500 50

31684200 .lunnurL hnh phhnurthh/2 tnhrt ubng qe nnrud 60c 30000 50

3t211520 Sntrh qZ nnuril 1300 52000 40

31211180

Uritnmlurtn ruh2urtnfr2 ilh\tnhrlurtrng
/2sA qZ nnrud 1000 20000 20

3L21.1180

Urlrnmlurui urtr2ruulr2 ilh\tnhrpuhng

/624 q2 nnrurJ L500 6000c 40

3L211180

Urluntfrurn urh2ur urfr2 3 nhrltuhng

/624 q2 nnrud 3500 17500 5

fdnnurnLhr qZ nnrur.I 6000 60000 10

31651100 Uhbnruhl dutuunlhh qz nnuril 200 4000 20
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ChnurilhLrn 3000000

8 2 4 51

Atu nut p tBtntlthh n h Uz /u un u hptt h p

4523L1"58

Uurhfrurru prurnh fuLfr\u\utt
rurtuurururhphhn LIU nnuril 784000 784000 I

19641000 unnhpuunu unn dtntrnqtrhn uu nnuril 170 1s3000 90c

18141100 urunL 50Lo uu nnrurl 70 63000 90c

Chnrutthhn 7000000

Chnrurlhhn 39000000

<<Uphhlr>>

,/4
U. Uuruurplruh

U. Urlhtnlru3tutr


